iR

K4 70+ (3554 T EEE H i sidk (5000m) H C i st dk (10000m)
A FHRRR AYNT vanhay 33 [ L 4 JPN 13 :] 29 |.] 21 28 || 05 |. | 91
AH  EAr VYL 43 f& K 4 JPN 14 [:] 04 [.] 17| 29 |:| 02 |.| 30
=R OB SREVY) 04 B B 4 JPN 13 [:] 53 .| 42 | 28 |:| 52 |. | 13
e ¥k vt ank 28 It JiE 4 JPN 13 [ | 57 |.| 91 28 || 21 |. | 80
hEEE N7y w7 08 & Ik 3 JPN 13 [:] 57 [.] 59 | 29 |:| 29 |.| 44
e B Wy = anh 25 BE 3 JPN 13 [:] 45 [.]| 56 | 28 |:| 27 |. | 77
e ik VN 20 & B 3 JPN 13 | :| 53 |. ]| 77 28 | :| 48 |. | 37
AKEF HEAS N VAL 45 ‘= &} 3 JPN 13 | :| 57 |.] 25 29 | | 02 |. | 44
NN A F )T 03 = F 2 JPN 14 [:] 05 [.] 12| 29 |:| 18 |.| 64
1B FHak NER ey 20 £ B 2 JPN 13 [:| 46 | .| 54 | 28 |[:| 15 |. ]| 65
&) Al )0y 9 14 FhZ%)I| 2 JPN 14 || 06 |.]| 15 29 | | 39 |. | 32
KA E ThTEh Val 43 BE K 1 JPN 14 [ 07 | .| 93| 29 [:]| 37 |.]| 78
BRI SR IEVL 33 [l L 1 JPN 13 [:] 54 [.] 9 | 29 |:| 08 |. | 31

PR R R

KA 7)h S bz i TR | R H SR i acds (5000m) | H ok acdsk (10000m)
i AL B0 28 It i 4 JPN 14 [:| 07 |.| 84 | 28 |[:| 45 |. ]| 15
g FHik AM E7 b 24 = 4 JPN 14 [:] 06 [.] 66 | 28 |:]| 36 |.| 72
W A G EVAZ 12 T 1 3 JPN 14 [ 11 |.| 37 | 29 |:| 11 |.]| 96
Tk 5% AN 09 ¥ K 3 JPN 14 |1 19 [.] 57| 28 [:] 44 |.] o1
E A 26 HHB 3 JPN 14 [:| 18 .| 64 | 28 |:| 54 |.]| 81
S AL hoh A7 43 A& K 3 JPN 14 || o1 |. ]| 67 28 | | 45 |. | 89
=l AL ENVZ AP 12 + 1 3 JPN 13 [:| 45 |. | 39 27 || 58 |. | 60
B B Jufy agt’y 11 2 JPN 14 [ :| 20 |. | 61 29 | :| 24 |.| 14
AN PN avy ayjay 08 7% Ik 2 JPN 14 [:] 22 . 46 | 29 |:| 31 |. | 72
ITH B a/y kn 23 &% 2 JPN 14 || 23 |. | 77 29 | | 39 |.| 62
—f YK A3 ank 46 B 2 JPN 4 (] 17 .67 2 |:| 17 |.]| 96
L AF3 Yav 28 It & 1 JPN 14 |1 o5 [.] 50| 28 [:] 53 |.] 53
A RS YINT NYE 47 P HE 1 JPN 14 [:| 15 |.| 8 | 29 [:] 23 |.]| 35




RN

K4 700 F 375 T EEE H 2 itk (5000m) H A ri sk (10000m)
W FE v v 14 #7351 4 JPN 13 | :| 47 10 | 28 |:| 22 27
wE  thiE AVIREA 12 T % 4 JPN 14 18 45 | 29 43 13
¥ B3 A& 473 41 2 B 4 JPN 14 04 49 | 28 28 94
BA  HAd NEN EF 12 + 2 4 JPN 14 06 13 | 29 31 74
IR s % rvh 22 ¥ [ 3 JPN 13 54 88 | 28 54 19
HaE EEVEY 45 ‘= IR 3 JPN 13 58 86 | 29 20 33
W B AR EVA 43 R& K 3 JPN 14 04 68 | 29 15 05
i)l e 90U kb 34 | B 2 JPN 13 58 40 | 29 01 27
ViR Vi VALY 04 ‘= I 2 JPN 13 58 00 | 28 40 90
EH L o} 7Y 2 45 B 2 JPN 14 09 94 | 29 47 15
F AR )V vank 34 K B 2 JPN 13 49 20 | 28 24 84
% —H 7Y WA % 12 + 1 JPN 13 51 61 | 29 33 36
Kk KA TAFE Vanh 15 % 8 1 JPN 13 54 51 | 29 33 52

MBJIKRE

K4 700"+ 55 T EEE H C ks stk (5000m) H ke ri sk (10000m)
TR B 7)) Ty 49 % jE# 4 JPN 14 | :] 02 03 | 28 |:| 51 68
Kig Hp AT <tn 06 | ¥ 4 JPN 14 13 35 | 29 16 77
B ) Ty b 40 & i 4 JPN 14 10 61 28 49 71
G SINE Az S 49 % jE# 4 JPN 13 50 33 | 28 21 10
P 22 R 5 AESEULY) 49 % JH 4 JPN 14 23 64 | 29 10 90
i S iy X un 49 ¢ H 4 JPN 13 57 31 | 28 57 71
e vy ) 38 & 4% 4 JPN 13 59 06 | 28 43 65
i = A h TV 49 % jE# 3 JPN 14 10 08 | 29 12 65
g B Hh=y Jagry 49 ¥ 5E 3 JPN 14 34 80 | 29 43 33
R A Hhng anh 49 ¢ H 3 JPN 13 46 84 | 28 47 66
W Ak 4 roed 49 ¢ JH 2 JPN 14 08 87 | 29 25 42
AR b Vb 26 I Ab 2 JPN 14 06 75 | 28 50 70




FH ERRKE
R,

700" 2 b T EEE H 5 e aidk (5000m) B O aidk (10000m)
B B 95 Wh 36 & 4 JPN 14 |:] 04 82 | 29 | :| 09 29
LA & L7%Y tn)) 22 [ 4 JPN 13 54 79 | 28 40 41
ARFS HE=F ¥57 A4 b 49 “f H 3 JPN 13 56 86 | 29 36 47
A HE eV 22 # 3 CHN 13 50 28 | 29 17 03
A A J2)% ayh 45 B IR 3 JPN 14 19 26 | 30 02 37
Vel Bk A R 24 = 3 JPN 13 50 31 | 29 17 39
Hi Bib V4 2k 04 B B 3 JPN 13 41 40 | 28 27 45
oKk B MTHT 45 = IR 3 JPN 13 57 50 | 29 06 37
7 st YV Yanh 04 = Ik 3 JPN 13 58 31 | 29 56 23
JIIN Bt sEEVAZ 42 R IR 2 JPN 14 13 26 | 29 43 48
B D W) anyuy 07 18 | 2 JPN 13 51 18 | 29 52 19
B ) Ak 01 drifgE 2 JPN 14 05 98 | 28 44 97
TEA Ry h TEA A"y b 11 ¥ % 1 KEN 13 20 40
REAL K
K4 700"+ 55 AR | EEE H C ks stk (5000m) H ke ri sk (10000m)
gt BRI ¥1F vayrk 04 = Ik 4 JPN 14 | :| 02 68 | 29 | :| 00 45
U Y 11 & * 4 JPN 13 52 20 | 28 29 75
£ H H 138 vy 08 7% Ik 4 JPN 13 55 60 | 28 58 79
Ve B Yhr ank 25 ¥k B 4 JPN 13 59 46 | 30 00 23
KA HFiE THh= aktn 08 7& Ik 3 JPN 13 59 38 | 28 49 42
N e VAREEUY 49 % jE# 3 JPN 14 17 22 | 29 05 57
e REN ALK 13 3/ 3 JPN 14 15 87 | 29 25 33
)l FF5 VAU F 40 & [ 3 JPN 13 54 31 | 28 58 98
I S =Y ana’ 11 * 3 JPN 14 09 00 | 29 25 40
B—R— UV e S VA 04 B Bk 3 KEN 13 31 97 | 28 25 20
AVE R )7 %en 49 ¢ JH 2 JPN 14 03 48 | 28 44 62
R M2 49 “F gH 2 JPN 14 27 42 | 30 13 72
B —% INVLE YA 49 ¢ JH 1 JPN 14 25 30




PN

K4 700 F 375 T EEE H 2 itk (5000m) H A ri sk (10000m)
HH A Thy 9% 12 T 4 JPN 14 |:] 25 41 29 || 14 07
AT Uit Jh7 MY h 49 “f gH 4 JPN 13 55 75 | 28 54 48
R HE YHh Val 49 % jE# 4 JPN 13 58 72 | 28 57 70
A B TvEh AV 49 “f gH 4 JPN 14 19 89 | 29 54 16
LA MEFH TvEh 2} 15 % H 4 JPN 13 54 49 | 28 25 21
PR RER IR 7 2y 17 4 ) 3 JPN 14 30 00 | 29 48 64
o S ISCAEUED] 07 & B 3 JPN 14 02 82 | 29 26 31
AR LN YV V% 13 |/ 3 JPN 14 11 20 | 28 49 64

T4 B — FLAEA 04— 0G4 11 B = 2 KEN 13 26 77 | 28 24 57
KA B RHD e SEEVELY 08 & g 2 JPN 14 20 06 | 30 18 54
R CfHb AN vany 18 f& 2 JPN 13 51 21 | 28 33 42
BOE B 174 anh’ 40 & I 2 JPN 14 21 30 | 29 27 92
PR fEE ARTR Uy 03 # F 2 JPN 14 08 38 | 29 57 99
HRRT

K4 700"+ 55 T EEE H C ks stk (5000m) H ke ri sk (10000m)
/NP — B 1)V anffuy 01 JeifiE 4 JPN 14 | :| 04 47 28 | | 49 10
RIK - HEF ATY) A 41 2 H 4 JPN 14 29 07 | 29 08 83
Pl AR Y% vank 23 & 4 JPN 13 56 71 | 28 38 43
aA hE AVEL v 28 It i 3 JPN 14 29 14 | 29 38 81
INER R anN vy e 42 £ I 3 JPN 14 20 65 | 28 43 71
AR PN SOy 37 F I 3 JPN 14 17 53 | 29 07 61
& H A 708 Ay 34 Jh 3 JPN 14 14 11 28 56 88
AR Tvhh ke 25 ¥ H 3 JPN 14 25 26 | 29 07 15
FElRE 8k R ME SV ¢ 40 18 [ 2 JPN 14 18 71 29 10 39
EIRE. VN yn'a Jank 44 K4y 2 JPN 14 06 83 | 29 00 47
BEA HER 7V EN ayh A 01 deyiiE 2 JPN 14 17 66 | 29 33 24
B suRk e Vavtd 35 11 M 1 JPN 14 17 23
JiL R N ang{ 30 FnEkiL 1 JPN 14 11 10




VR

K4 700 F 375 T EEE H O stk (5000m) HC 4% (10000m)
HiE B AN 13 H 4 JPN 14 15 05 | 30 05 18
BN MK AN 13 4 JPN 13 55 10 | 28 29 24
BN EE 2 12 T % 4 JPN 14 04 16 | 29 34 78
LRk Eh ANV 23 & 3 JPN 14 13 95 | 29 13 26
HH SEE T vty 46 BB 3 JPN 14 17 55 | 30 08 41
PN Ny agay 40 & ] 3 JPN 13 49 74 | 28 55 09
hn s v vy 24 = 3 JPN 14 08 07 | 29 35 36
A FEAE TvEb 7% 42 R IR 3 JPN 13 52 01 | 28 45 06
hE S LVAVIVAS 24 = 2 JPN 14 23 49 | 30 11 88
EiE-S N J=YA kb 28 It J&E 2 JPN 14 03 05 | 28 53 80
B BA AN/ 40 & [ 2 JPN 14 11 30 | 28 51 19
sE A ENAEVAY 34 I B 2 JPN 13 58 73 | 31 22 61
N [ ¥ v ) 14 fZ3)1| 1 JPN 14 22 76 | 30 25 02

A AKE KF

KA 790+ Betts A R H U e sidak (5000m) A iR rcdak (10000m)
ERM (R TN B TR 19 (I 4 4 JPN 13 | :| 50 73 | 28 |:| 59 31
A G, e WAR 22 [ 3 JPN 14 12 78 | 29 13 50
ESSNR VN A3INT IR 23 & 3 JPN 14 14 72 | 28 54 69
Bk FER Sy EVZ 08 7K Ik 3 JPN 14 06 20 | 29 16 43
e B STHY Fvy 41 fe 3 JPN 14 01 31 29 25 80
(A B Y F vy 41 = A 3 JPN 14 08 15 29 26 96
A il Drx )Y 118 = 3 JPN 13 59 10 | 28 59 82
R BHE AV A 43 A& A 2 JPN 14 27 78
e R VIR AR F 43 B AR 2 JPN 14 16 87 29 15 24
M B B2 Yayr 23 & 2 JPN 14 36 40 | 29 32 57
Bk k77 Janh 14 FhZ%)I| 2 JPN 13 59 00 | 29 19 86
. N 2 ISAVELL LY 165 L 2 JPN 14 14 08 | 29 04 88
LIy 7K Yo % hag 15 3 2 JPN 13 52 09 28 23 69




HEBORE
K4

700" 2 b T EEE H 5 e aidk (5000m) B O aidk (10000m)
- ATr™ b 04 = IR 4 JPN 14 | :| 15 90 | 29 [ :] 09 61
AE R B iq* 34 J5 B 4 JPN 14 28 08 | 29 24 60
FATK 4 W WA 12 T 4 JPN 13 50 45 28 31 80
—JR nE N Vi 41 2 B 4 JPN 14 28 01 29 54 98
g EE I VANEES 10 B 1% 4 JPN 14 10 00 | 28 56 83
ANRR AR Ak 13 i 3 JPN 14 16 32 | 28 50 64
s U iy Ay 23 & A 3 JPN 14 29 85 | 30 12 62
HHE S Wk paTv 03 & F 3 JPN 13 53 53 29 06 30
NI i) Ty 73 12 + 2 2 JPN 13 50 04 | 29 24 23
TR i VRN 37 & I 2 JPN 14 28 87 | 30 23 12
7 IR FH SRR VA REVEDY EU 49 ¢ gEH 1 JPN 14 18 89 | 30 15 60
B A JB TR 49 ¢ gEH 1 JPN 14 10 90 | 29 41 89
% H 5 5 LY AL 27 K PR 1 JPN 14 36 97
H AR
K4 700"+ 55 AR | EEE H & e Fnds (5000m) H ke ri sk (10000m)
N VINVEVEL 38 & IE 4 JPN 14 | :| 22 89 | 29 |:| 16 98
TR &R VEF 2y 21 I E 4 JPN 13 48 55 | 28 50 15
(RSP VL7 vank 23 & AN 4 JPN 14 10 27 | 28 51 23
LR R AN 46 BB 3 JPN 14 08 46 | 29 19 30
K #EF Ly IEVAY| 47 P 8 2 JPN 14 26 59 | 29 17 16
AN fLE AATE any” 15 3 & 2 JPN 14 32 88 29 59 31
B AL 25 %h A 2 JPN 14 36 48 29 28 59
R IVIY 7% 20 & HF 2 JPN 14 13 64
g AR Yo $ vt 31 B W 2 JPN 14 34 9 | 29 57 47
i AR WE) 1TV 49 % jE# 1 JPN 14 26 83
VY KT XS AA YN T *97 A 49 & 1 KEN 13 36 9 28 13 10
i BRK \CAN I 09 i K 1 JPN 14 10 55
ESNCUN fvhn by 49 & jE 1 JPN 14 48 50




LB R

K4 700 F a2 b5 T EEE H 5 e aidk (5000m) B O aidk (10000m)
JIJR IE VARG ES 06 LI J& 4 JPN 14 | :| 22 48 29 | :| 31 94
ALk VA 907 At 49 % JH 4 JPN 14 22 55 | 28 41 90
B K AVAEVL) 49 = jE 4 JPN 14 21 70 | 29 22 20
vl R3] Sy ZNE 49 % 3 JPN 14 21 76 | 29 16 68
E IhE ik 05 fk H 3 JPN 14 08 91 | 29 40 12
fEm B VA2V 19 [ AL 3 JPN 14 22 78 | 31 05 74
S H 5 F MR RT3y 49 ¢ JH 3 JPN 14 12 09 30 11 23
B KM WIS B A% 49 ¢ JH 3 JPN 14 07 34 | 29 10 00
mn o BEA Al 49 % 2 JPN 14 18 16 | 29 38 02

Crx—AA AhwY Y r=hA Ahys 49 ¥ 2 KEN 13 24 73 | 27 50 54
B s} IEN 7L 49 ¢ gEH 2 JPN 14 41 48 | 30 22 09
S\ E S AT b7y % 46 VR E; 2 JPN 14 25 79 29 58 66
HEl KRN Y 19 [ AL 1 JPN 14 17 76 | 29 51 25

REEXRF

K4 700"+ 55 AR | EEE H C ks stk (5000m) H ke ri sk (10000m)
i AR V% 3y 07 & 4 JPN 13 | :| 53 02 | 28 |:| 11 99
AR B 3% 4 13 |/ i 4 JPN 13 51 74 | 28 16 30
AR H NEAT Yy 07 & B 4 JPN 14 22 75 | 29 53 54
FAAS SRR vJEh 2jny 11 # = 4 JPN 14 29 77 | 29 17 11
B EIV LD 14 FhZ%)I| 4 JPN 14 34 89 | 30 19 05
FH Rk AZE S 13 # 3 JPN 14 35 21 | 29 53 58
) By anyay 1% 3 JPN 14 35 04 | 29 33 12
Bl A AYARES 07 & & 2 JPN 14 22 97 | 29 32 00
JAH NFRT AYRY 14 FBZ%)I| 2 JPN 14 20 38 | 28 58 83
TebE B THE) 2y 41 = B 2 JPN 14 11 56 | 29 27 85
EE Ny VL7 METV 49 ¥ 5E 2 JPN 14 38 59 | 29 49 90
MH #X VIV% Vash 33 [ 1 JPN 14 14 73 | 30 52 06
HijHH  FHEE w1y AR 28 It i 1 JPN 13 56 65




BRI B R

3

K4 70+ (3554 A HEE H & etk (5000m) H i st dk (10000m)
il zpl VLS WVINS 49 % jEH 4 JPN 14 16 68 | 28 |[:| 45 |. | 78
N e \sUEVZI 49 = jE 4 JPN 14 34 22 | 30 16 |.] 62
P 2 RER AT HE VF 49 “f H 3 JPN 14 40 17 | 30 06 |. | 70
o] Ui 181 Ty % V% 49 ¥ 2 JPN 14 36 69 29 44 | .| 04
KRR % h/huy 49 o gH 2 JPN 14 41 03 | 30 32 |. | 98
EH VA 49 % 2 JPN 14 32 95 29 41 | .| 43
BE EA 1793 Ah 49 2 JPN 14 42 75 | 30 09 |. | 18
/b A6 ay 2y 49 “f gEH 2 JPN 14 30 86 | 29 38 | .| 73
HUR K] AR ZV 49 & H 2 JPN 13 54 37 | 29 06 |.| 51
BRI ZEK 7V A 49 ¥ 2 JPN 14 16 10 | 29 36 |.| 82

LY T Ay RT7 ) — S EENIYI 49 7 gl 2 KEN 13 35 56 | 28 28 | .| 36
it ER TAny <ften 49 ¢ gEH 1 JPN 13 59 82 | 29 14 |.| 96
T wE Thry k4 49 % jE# 1 JPN 14 08 70 | 29 12 .| 10
BERY

KA 790+ Betts A R H U e sidak (5000m) A iR rcdak (10000m)
Ay i av) Atk 04 = Ik 4 JPN 14 | :] 27 57 | 29 | :| 48 |. | 31
5 R — AR Uhy J94fey 49 ¢ H 4 JPN 14 26 33 | 29 59 | .| 94
4 IR UYINT Vany 46 FEUL 3 JPN 14 17 10 | 31 41 | .| 81
THE KAn VAU 12 T & 3 JPN 14 12 37 | 29 18 |.| 79
WiEs anN vy av 24 = 3 JPN 14 22 93 | 29 40 | .| 93
PR HE Ak agy 12 T # 3 JPN 14 14 78 | 28 49 | .| 55
WA A kot ffa° 18 t% 4t 3 JPN 14 11 59 | 29 20 .| 10
iz R VANV 46 B 2 JPN 14 46 44 | 30 21 .| o1
i 1 FHEN T B3 04 = hk 2 JPN 14 30 11| 29 52 | .| 30

FAEY R a7 xA4¥A FAC YN vashty #MY 12 F & 2 KEN 13 38 04 | 27 46 | . | 08
W W EEY) 13 B 2 JPN 14 36 27 | 30 18 |. | 67
A P A& EN Vayk 22 F [ 1 JPN 14 45 13
PR AR HAT aAr 18 % It 1 JPN 14 51 66




N
K4

700" 2 b T EEE H 5 e aidk (5000m) B O aidk (10000m)
fEld et 7040 Tkte 12 + 1 4 JPN 14 | :] 23 85 | 29 [:]| 53 61
A BEAR TYEh Jalvy 31 & W 4 JPN 14 03 05 | 29 00 14
/NBR B aINYy A 14 #7311 3 JPN 14 22 56 | 29 52 85
HEs AR Ty v ank 13 1 3 JPN 13 57 29 | 29 18 86
EHE E R ATE 07 f& & 3 JPN 14 21 44 | 29 36 33
W ORE V8 11 8 = 3 JPN 14 15 20 | 29 33 44
vE—4— I=v b == gy 49 7 gl 3 KEN 13 55 37 28 21 49
Ui N A Jans 45 = IR 3 JPN 14 19 02 | 29 33 14
BB B {av fAak 118 % 2 JPN 14 10 59 | 29 41 47
JI A VAEYYD 26 71 #F 2 JPN 14 20 52 | 29 21 46
PrEll ek Byex any 20 £ B¥ 2 JPN 14 23 37 | 29 52 38
I S MAD ants 49 & E 2 JPN 14 15 98 | 29 40 87
L KIS 3 7/ 28 It JE 1 JPN 14 26 69
HERY
K4 700"+ 55 AR | EEE H & e Fnds (5000m) H ke ri sk (10000m)
M D By ank 07 & & 4 JPN 14 | :| 10 67 | 28 | :| 54 78
KA BB A f= agh 18 & JF 4 JPN 14 08 00 | 29 38 83
ik 5L Tvym vy 47 1 AR 4 JPN 14 27 18 | 30 09 48
AR B TVEN A)T W 40 t& [ 3 JPN 14 41 98 | 30 58 30
Aol FHAH By FAY 44 K 4y 2 KEN 13 39 16 | 28 11 79
T K— 7N AT 09 #Fi K 2 JPN 14 07 93 | 29 29 67
R A Al 14 f4Z3)1| 2 JPN 14 22 19 | 29 39 54
R st n7v+ Uk 14 FBZ%)I| 2 JPN 14 30 68 | 29 48 58
LI ER B N g ) hey 08 % Ik 1 JPN 14 22 76 | 30 25 44
KVE A=y 2y} 26 7 ¥ 1 JPN 14 03 88 | 30 39 18
HEER—L 7Y Ay b 47 P HE 1 JPN 14 24 70 | 29 53 82
152 i %3 iy 7 13 |/ i 1 JPN 14 24 54 | 29 55 29
fH K2 7R kak 14 FZR)I| 1 JPN 14 27 63 | 29 40 84
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K4

700" 2 b T EEE H 5 e aidk (5000m) B O aidk (10000m)
KA =} THh= vk 11 ¥ * 4 JPN 14 |:] 16 03 | 29 | :| 47 02
A F NEN TRE 13 | 4 JPN 14 13 91 28 40 83
—JH ] NVAVEV 04 B Ik 4 JPN 14 15 12 29 13 14
RKEF I&FH 1) anh 14 FhZ)I| 3 JPN 14 41 83 | 30 54 17
Kk HEA TAE) b 08 X W% 3 JPN 14 38 20 | 31 40 49
HE A vt MY 08 7% I% 3 JPN 14 33 01 | 30 17 44
ESIN TN INEEY 118 % 3 JPN 14 34 16 | 29 41 08
g% &K DhtaT 2 15 3 3 JPN 14 32 16 | 29 25 31
NIl 9T v 274 11 ¥ = 2 JPN 14 32 11 | 29 12 31
B B y=4 aj} 13 | 5 2 JPN 14 41 62 | 30 16 00
il i Iaf bV 40 f& [ 2 JPN 14 04 28 | 28 47 98
A EW A4 8% 09 i K 1 JPN 14 53 33 32 22 73
P MEFH b)) THb 118 % 1 JPN 14 44 66 | 30 58 75
iR N
K4 700"+ 55 T EEE H C ks stk (5000m) H ke ri sk (10000m)
PO R Wb 4 antd 49 & jE 4 JPN 14 | :] 37 83 | 29 |:| 33 45
e Hh=y vank 49 ¢ H 4 JPN 14 39 22 | 29 53 54
S AR wv 73 49 ¢ EH 4 JPN 14 31 13 | 29 27 26
fngx  HA ATE) 2yh 49 ¢ H 3 JPN 14 11 24 | 29 02 72
JoIl #hiR VAL 49 % jE# 3 JPN 14 01 36 | 28 27 51
o S AREVLE 49 ¢ H 3 JPN 14 48 93 | 30 19 00
i HK W2V 49 ¥ 2 JPN 15 10 18 | 30 16 62
e HAN 7v)0 toh 49 ¥ 2 JPN 14 43 77 | 30 15 41
A -PN A% b= Iy 49 ¥ 5E 2 JPN 14 31 12 | 30 40 74
A eIk ZVED 2y 49 % f 2 JPN 14 43 41 30 21 75
R EPN EEVINR Y 49 % jE# 2 JPN 14 49 98 | 30 28 37
CarJyr w5 Viav)y ¥z 49 = 1 KEN 13 30 13 28 12 55
i R VUAES 49 % jE# 1 JPN 14 42 64 | 29 51 70




